E 21 FE FARRHES
BRI EE ()
B FHER (%)

4R 5RA 6RA 1A 8RA 98 10A 1A 12A 1A 2R 3R | & &t

F FHETgEE % (E) 450 432 450 486 414 432 486 432 414 432 414 468 5, 310

£ BigR—L 3 4 1 0 4 2 6 6 5 1 0 8 40 [H]

4.0 5.6 1.3 0.0 5.8 2.8 7.4 83 7.2 1.4 0.0 10.3 4.5

FEE (13) 16 9 9 12 13 8 17 19 12 8 7 16 146 [A]

21.3 12.5 12.0 14.8 18.8 11.1 21.0 26.4 17.4 11.1 10.1 20.5 16. 5

FHEE %) 6 12 10 13 13 19 19 22 18 11 8 20 181 [A]

21.3 16.7 13.3 16.0 18.8 26.4 23.5 30.6 26.1 15.3 11.6 25.6 34.1 %

e 3 4 3 3 8 1 7 6 7 0 0 8 50 [H]

4.0 5.6 4.0 3.7 11.6 1.4 8.6 8.3 10.1 0.0 0.0 10.3 5.6

= (12) 9 15 6 4 9 6 13 17 9 6 6 14| 114 [A]

12.0 20.8 8.0 4.9 13.0 8.3 16.0 23.6 13.0 8.3 8.7 17.9 12.9

= 0%) 7 8 6 3 8 8 9 18 8 4 411 94 [m]

9.3 11.1 8.0 3.7 11.6 11.1 11.1 25.0 11.6 5.6 5.8 14.1 10. 6

A~ = 54 52 35 35 55 44 71 8 59 30 25 77 625 [H
(=] A

12.0 12.0 7.8 7.2 13.3 10.2 14.6 20.4 14.3 6.9 6.0 16.5 11.8

FARRER & (H) 150 144 150 162 138 144 162 144 138 144 138 156| 1,770 H

FAR%K (8) 150 144 150 162 138 144 162 144 138 144 138 156/ 1,770 H

FAE (%) 100. 0 100. 0/ 100. 0 100.0 100. 0 100.0 100. 0 100.0 100. 0 100.0 100. 0 100. 0] 100. 0%

*FARERIE = 1 » H OBAfE A4
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